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LEVELTEST ANSWER KEY

Penguin        Readers
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4THE INVISIBLE MAN

1	 walked
2	 carrying
3	 was wearing (or wore)
4	 was pulled
5	 could
6	 cried
7	 shook
8	 paid

1  d    2  b    3  f     4  g    5  c    6  e    7  h    8  a

1  A	 2  B	 3  C	 4  A	 5  A	 6  B

1	 Money to pay for a nurse to help him.
2	 His friend, Mr Bunting the vicar.
3	 It fell in the fire one day.
4	 Nothing.
5	 Every year at the beginning of  June.
6	 Because he’s waiting for some money from  
	 his bank.
7	 In the vicar’s house (in the desk).

1  c    2  f     3  h    4  a    5  e

1  power	 2  poker	 3  clothes
4  thief 	 5  newspaper	 6  pub	
7  wire

1  d    2  c    3  b    4  a    5  a    6  c    7  c

1	 In his laboratory
2	 Something
3	 Five
4	 He was thirsty
5	 Blood
6	 At school

a	 A white scarf
b	 A white cat
c	 Himself

a  2    b  4    c  7    d  1    e  5    f  6    g  3

glasses, a scarf, a big wide hat, bandages,  
a beard, shoes, about twelve pounds

Model answer: 
Kemp does not want to argue with Griffin 
because he does not want to make Griffin 
angry. Kemp knows that Griffin is a dangerous 
man who gets angry very easily.

1  where	 2  where	 3  what	 4  where
5  where	 6  what	 7  when	 8  why

1  f     2  b    3  c    4  a    5  g    6  d    7  e

1  quickly	 2  followed	 3  slept	 4  queen
5  king	 6  first	 7  death

1  b    2  a    3  a    4  b    5  c    6  a    7  b    8  c

1	 The Port Stowe The Invisible Man
2	 lost found
3	 has does not have
4	 lost with the landlord
5	 day Sunday
6	 do the experiments and be invisible  	  
	 understand the books
7	 is invisible dies

1  since	 2  for	 3  already	 4  yet
5  for	 6  for	 7  already

1  which	 2  which	 3  who	 4  which
5  who	 6  which	 7  who	 8  that

1	 Wicksteed was dead.
2	 Every window was broken.
3	 His wide hat was pulled down over his face.
4	 All morning in Port Stowe, money was taken.
5	 But the next morning I was woken up by  
	 someone knocking on the door.
6	 The other policeman was not badly hurt.
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